Precalculus > Ch4 pX VISR - #4EELf) 53 > Cheng-Fang Su

A-4 S el

IS S L CE
SR () R T A= (EMEE -

1) fE)FFE: @) lIimfOYFFAE > (3) limf(x)=f(c) ;

PR (x) 1E x = c i 4

ErEYEEEE LT

SEREL T (X) 1E (a, b) thE—HBEET A - AR f(x) £ (a,b) F2H4T

SRR T (X) 7E (—o0, 00) - 3H4E » FITE f (X) fopR R iHieg -

(1] Z2THeR S~ RSt ~ SR ~ IESZeREL ~ BR5% bR 2 i i R A bR Y -

AR EAEL T (X) ~ g(x) 7E x = c FR 4T - Al -
(1) k-f()TEx=chziEsE » HfkeR -
(2) f(x)xg(x){Ex=CcERiHaE -

(3) f(x)9(x){E x = c R -

(@) % g(x) %085 » %Ehﬂﬁ@éﬁo

EEEI TS E
AR g A o A ELeR R f A2 g(c) 2 A (o g)(x) £E ¢ AN »

BT 1im £ (g (x)) = f(lim g(x)) = f(g(c)) -

4-4-1



Precalculus > Ch4 pX VISR - #4EELf) 53 > Cheng-Fang Su

[B1] Ber® f () = x| » 9(x) =1-2x" » 5lErE (f 0 9)(x) 1E x = 2 FFAY A1 -

(1] SHHHEF RS T () =VX* — 9 B E ] -

- B R A R

kx? + x—4k —2 Sy
1. BZRNEL f(X) = X—2 ’ c Hf(X)Ex=2#4 > Allk=____ -
3 L e X=2

x> —6%, #=x<1
2. HELF(X)=1-4-x*, FH1<x<10 fEXx= AR I8 o
6x2 +46, 7% x>10

x? -1
2T el s ,
3. FIETHEf () =4 x—1 ' = fEX=1EF R ? R :
2, #Z=x=1
X>+ax+b .
Zx 2’ X#2 5
4. FHg(x)=1* ;( FEEFAL (-1, 00) FHVEHLEEE > K (ab)=_ -
o ' —H—X=2
3 =
5. B [X1E=HTRFE - M f(x)=[x] » Al f(x) B 2GR Fy °

1
LUE] S 2 UE11053 [E) 2 i f(9=2= 1) 54 [%] @-10) : 5. U] Fassmmnminasis s {X | X € 2} -

4-4-2



